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Name:Multiplication

Warm Up

1)       6 x 9 =

2)      4 x 9 = 

3)      8 x 9 =   

4)      10 x 9 =   

5)      9 x 9 =    

6)     7 x 9  =   

7)      3 x 9=   

8)     5 x 9 =   

9)     2 x 9 =   

10)      9 x 6 =   

11)      9 x 9 =   

12)     9 x 4 =   

1)     Loretta placed 9 teaspoons of coffee in each of 
2 bowls to make some coffee icing. How many 
teaspoons of coffee did Loretta use altogether?  

2)     In a tree plantation the trees are planted in 
rows of 9. How many trees in 10 rows?

3)     3 rows of 9 ants carried seeds back to their 
nest. How many ants altogether carried seeds 
back to their nest?
     

4)     A walking race requires every competitor to 
complete 9 laps of the 4 km course. What is the 
total distance walked by each competitor?

5)    There are 9 players on each softball team. If 
there are 7 teams taking part in a competition, how 
many people are playing?

6)    Three 9 m poles placed end to end are the same 
height as a tree. What is the height of the tree?

7)    Alexis bought 8 posters at $9 each. How much 
did she spend on the posters?

8)    If a printer prints 9 pages per minute, how many 
pages can it print in 6 minutes?

9)     Each section of the room requires 9 tiles. If there 
are 9 sections in the room to tile, how many tiles are 
needed in total?

10)     5 full containers of water are poured into an 
empty drum. If the container’s capacity is 9 L, how 
much water is in the drum?


